

Problem 	PROBLEM OF THE WEEK
	
Name & Surname: _______________________________________ Class: _______
	Grade 6 & 7    2025 # 22		Hand in by Thurs 7 Aug

[bookmark: _Hlk204858104]A square is cut into 2009 smaller squares (which don’t have to be identical). The side length of each smaller square is a whole number. What is the smallest possible side length of the original square?
[bookmark: _GoBack]
The square number just larger than 2009 is 
 
or 
 
ie, divide a 45 x 45 square into 2025 small squares, and then erase two 3 x 3 sections and make these two 3 x 3 squares. 
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Hand in by 1500 on Thursday (place in the box outside the foyer). The best solution (not just the answer) will be announced on Friday. The solution will posted on the website: http://markrushby001.wixsite.com/sv-maths/problem-of-the-week 
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45x42=1890

39x3=117
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